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PNP 'SILICON
HIGH VOLTAGE

N TRANSISTORS
BF491, BF492, BF493 are PNP silicon planar
transistors designed fof high voltage video _
amplifiers in television receivers requiring |
high breakdown voltage and low capacitance.
(EBC |
ABSOLUTE MAXIMUM RATINGS BF491 BF492 BF493
Collector-Emitter Voltage VCEO 200v 250V 300V
Collector-Base Voltage Vego 200V 250v 300V
Emitter-Base Voltage VEBO 6V 8V 8v
Collector Current IC 500mA
Total Device Dissipation @ T,=25°C Pb 625mW
Derate Above 25°C 1.2mW/°C
Total Device Dissipation @ TC=25°C Py 1.5W
Derate Above 25°C 12mW/°C
Yy Operating & Storage Junction Temperature Range - Tj,Tstg -55 to 150°C
~ ELECTRICAL CHARACTERISTICS (TA=25°C unless otherwise noted)
< PARAMETER SYMBOL M§§4§ix e M§§4§ix UNIT |TEST CONDITION
Collector-Base Breakdown Voltage BVCBO 2001250 - ~-—{300 * v Icso.lmA lIﬁéO
Colléctor—Emitter Breakdown Vbltage. BVCEQ* - QOQ'_ 250|300 v IgélmA'%?%IBfC
Emitter-Base Breakdown Voltage BVEBO- 6 8 8 V' |Ig=0.1mA Ig=C
Collector Cutoff Current “Icpo 0.1 | ‘VCB-IGOVQAIé;C
, - 0| 0.1| pA [VeB=200V Ip=C
Emitter Cutoff Current IERD 0.1} ‘ ‘pA |Vep=4V Ié=(
| | 0.1| 0.1 pA |VER=6V  Ig=C
Collector-Emitter Saturation Voltage| VCE(sat) 2 2 2|V |Ic=20mA IB=2r
Base-Enitter Saturation Vbltage VBE(sat) 2 2 2|V |Ic=20mA- Ip=2:
D.C. Current Gain R .: |25 |25 |25 {Ig=lma VeE=1C
o 13 40, 40 40 Ic=10mA VCE=1(
_ |current Gain-Bandwidth Product £ 50 |50 50 Mz Igalankﬂnn§1a
(d}}‘eedback Capacitance ' Cre o2 2 2| pF C§—1OOV IE-O

*Pylse Test :

ez

I-d. =P

Pulse Width €£300pS, Duty Cycle < 2%.
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